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 SEQ CHAPTER \h \r 1EXPLANATION OF THE DISCOUNTED CASH FLOW METHOD
The discounted cash flow (DFC) method is oriented toward the market prices and yields of securities.  It assumes that investors make a judgement regarding the rate of return they require to make an investment at a given risk level.  This required rate of return is the sum of the return that could be obtained on a risk-free investment such as treasury bonds or other securities guaranteed by the Federal Government and a risk premium which takes into account the investor's estimation of the risks involved with a security.

The investor's required rate of return can be expressed in the equation:

R = X + Y

where:  R = Required rate of return;

X = risk-free rate of return; and

Y = Risk premium.

The required rate of return is then compared to the expected return on a security.  The expected rate of return can be expressed in the equation

K = D/P + G

where:  K = Expected rate of return;

D = Annual dividend;

P = Current price; and

G = Expected compound growth rate of earnings and dividends.

The current annual dividend and current price are determined for the investor.  The compound growth rate may be computed by the investor over a given period of time; usually from some point of time in the past up to the time the investment is made.  The investor may use this historical rate as a starting point in his estimation of the future growth of earning and dividends.  However, it would be naive to project historical growth rates into the future without additional evidence that past economic conditions will be duplicated in the future.

The equilibrium price of the common stock is the price at which the required return (R) is equal to the expected return (K).  A change in any of the variables used to compute the required return or the expected return would cause a state of disequilibrium to exist.  The market price would then rise or fall until R and K are equal and a new equilibrium price is reached.  This can be illustrated by observing the effect on the stock price of a change in the risk-free return (X) while dividend (D), growth (G) and the risk premium (Y) remain unchanged.  An equilibrium price would exist when:

X = 6%; Y = 4%; D = $.70; P = $10.00; and G = 3%.

The required rate of return would be:

R = X + Y

R = 6% + 4%

R = 10%

The expected rate of return would be:

K = D/P + G

K = $ .70/$10.00 + 3%

K = 7% + 3%

K = 10%

The stock price will no longer be in equilibrium if the risk-free return (X) available to investors increases sharply from 6% to 9%.  The required return (R) will then equal 13%.

R = 9% + 4%

R = 13%

The expected return (K) remains at only 10% at a stock price of $10.00.  Therefore, the demand for the stock price will fall until the expected return is equal to the required return, or 13%.  This equilibrium price can be determined by solving the K equation for P.

K = D/P + G

13% = $ .70/P + 3%

10% = $ .70/P

P = $7.00

When the stock price reaches $7.00 per share, R and K will again be in equilibrium.

This example of price fluctuation illustrates how the cost of common equity is determined in the market.  Investors' risk perceptions of a company affect the risk premium (Y) that they require as compensation for investing in the company's common stock.  It is also true that changes in the economy will also be reflected by changes in the risk-free return (X).  These changes also affect the cost of common equity.  Investors provide dollars of capital to a company with the expectation of receiving a number of dollars in return.  It follows that a company's cost of common equity rises as the stock price falls and declines as the price rises, if the dollar return expected by investors remains unchanged.

